### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 3 - Giffnock and Thornliebank	
Valid Votes	7,233	
Positions to be Filled	3	
Quota	1,809	

## Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
George GEBBIE	Alba Party for independence		92
Colm MERRICK	Scottish National Party (SNP)		1,888
Mary MONTAGUE	Scottish Labour Party		1,608
Alice ROY	Independent		464
Karen SHARKEY	Scottish Green Party		387
Allan STEELE	Independent		978
Gordon WALLACE	Scottish Conservative and Unionist		1,816
		Total	7,233

Candidate Colm MERRICK Elected with 1,888 votes, being in excess of the quota of 1,809 Candidate Gordon WALLACE Elected with 1,816 votes, being in excess of the quota of 1,809

## **Transfers Report**

This report contains the transfers results.

## Stage 2 - Surplus of Colm MERRICK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to George GEBBIE	117	0.04184	4.89528
Transfer to Mary MONTAGUE	497	0.04184	20.79448
Transfer to Alice ROY	131	0.04184	5.48104
Transfer to Karen SHARKEY	748	0.04184	31.29632
Transfer to Allan STEELE	126	0.04184	5.27184
No further preference	269	0.04184	11.25496
Not transferred due to rounding			0.00608
	Total		79.00000

### 79.00000

## **Transfers Report**

This report contains the transfers results.

7.00000

# Stage 3 - Surplus of Gordon WALLACE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary MONTAGUE	388	0.00385	1.49380
Transfer to Allan STEELE	731	0.00385	2.81435
No further preference	436	0.00385	1.67860
Not transferred due to rounding			0.00840
	Total		7.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of George GEBBIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary MONTAGUE	31	1.00000	31.00000
Transfer to Alice ROY	17	1.00000	17.00000
Transfer to Karen SHARKEY	18	1.00000	18.00000
Transfer to Allan STEELE	12	1.00000	12.00000
Transfer to Mary MONTAGUE	18	0.04184	0.75312
Transfer to Alice ROY	14	0.04184	0.58576
Transfer to Karen SHARKEY	65	0.04184	2.71960
Transfer to Allan STEELE	5	0.04184	0.20920
Transfer to Mary MONTAGUE	1	0.00385	0.00385
Transfer to Alice ROY	3	0.00385	0.01155
Transfer to Karen SHARKEY	4	0.00385	0.01540
Transfer to Allan STEELE	2	0.00385	0.00770
No further preference	14	1.00000	14.00000
No further preference	15	0.04184	0.62760
No further preference	4	0.00385	0.01540
Not transferred due to rounding			0.00000
	Total		96.94918

### 96.94918

## **Transfers Report**

This report contains the transfers results.

## Stage 5 - Exclusion of Karen SHARKEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mary MONTAGUE	189	1.00000	189.00000
Transfer to Alice ROY	81	1.00000	81.00000
Transfer to Allan STEELE	32	1.00000	32.00000
Transfer to Mary MONTAGUE	288	0.04184	12.04992
Transfer to Alice ROY	162	0.04184	6.77808
Transfer to Allan STEELE	77	0.04184	3.22168
Transfer to Mary MONTAGUE	12	0.00385	0.04620
Transfer to Alice ROY	7	0.00385	0.02695
Transfer to Allan STEELE	10	0.00385	0.03850
No further preference	103	1.00000	103.00000
No further preference	286	0.04184	11.96624
No further preference	11	0.00385	0.04235
Not transferred due to rounding			0.00000
	Total		439.16992

### 439.16992